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 Question 6

Invertibility and inverse system:
A system is invertible if a distinct inputs leads to a distinct output. 
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X[n]                                                                                                                                                              w[n] = x[n]

Example of invertible system:






         Y(t)

X(t)                                                                                                                                                               w(t) = x(t)

Example of non-invertible system:
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X(t)                                                                                                                                                              
 w(t) [image: image2.png]* x(t)
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For instance, x(-1) will lead to the same result of x(1) although [image: image4.png](-1 =
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W(t) = Y(t) - 1





Y(t) =  t + 1 





W(t) = � QUOTE � ���





Y(t) =  � QUOTE � ���








